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chapter-21 Mensuratio
Exercise-21.1

Solution- Q=
dy %em,

Llomeler of a civcle= qem,,

Radivs of a ciucle = Diameder

=3

= Tem

—

&
= 2.5cm

eiveumde rence of a civcle = o= 2__:2\; TEM =D 2o,

() piomekey of o Civele. = 4.2cm

citcumfevence 4f dhe civcle = TIp em
= R84,
- q.!
T em

= 13.22v)

iy Diametey of o civele = . 2km

aivcumfevence of the ciwcle — D £

=

= X2
=35 Lkm

Solution - 03 -

Uy re is Grive n that

Ci¥cumfeYencel nfn civele =ymye — —_—
= Bom

= T =52.% .
TR

= ¥ - g.4yem.

an Tt IS Giventnat s

C'nrr_‘um-feleﬂce Of a eivcle =

22Uy = L|2Ch—;

2 wv= 4a
- = 42
anm E:g."{i—l &m
= vYadius = I

CoYadius af o civele = E.E8cm

) we have, c)@
i *
Civcumference af a civele = L.-6kEM 60 \\
= gp¥ = 6.6 kwm @ O
= ¥ 88 jqkwm %
ohRaE K
s o = l.DSkm . %\j %
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dy  Loe have,

e cumfevence of Qo civel® 2 12.56cm = wp

= TR = 18.58 ¢

= Diomebtey = 18-56

e <
aaﬁ‘"l L

= DiameteY = 3 .99¢Cm

L‘Ii] [Vl 'hon\l'E,

civeumference of A CIivYCI€ = 8% cmas qp

= N0 - a8am

= piametery = %

- E—Q‘:'i_i'rn

= piameter = 28 m
i) e have,

civeurn{evence of a ¢ ivele = .0k m

=MD
= TiD = 1l.0km
= plameter= W8 e
aa TEmM
= Dlameler = 3.5km.

C.piameley of a civrcle =3.5em,

Solukion -0§ - o
e have, vakio of Tadil = 3z 0

So, let the vadii of tWwe civdeg be 3v and - v Tespe
P
- kevelw

Let e, and o, ke the civcumfevencs of tweo civcles
vadil 2¥ and 27 T€EPectevely . Then

Ciz ALY G TS ¢, amxay =y

A, L EWMY

YW

n
W
K

Solution=0é!-

we have,

Lenfth o the wnve = 2¢ k) em

= 01874 143 em
= B3cm.
Let the woi1e be bent inlo the form of o circle
of sadius ¥ om .- Then,
civeumterence = 33cm
=2 RN = 33 e4m

sy & &

PE <
i3

= ¥ = 53_:; <77 = %—L(_“m 6
et (&

= Yadius = 5.35¢cm . \

S owadaus of A ciwle =5.35 00 %
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we have,

Length of the ewilateval triangle - ¢ ¢epnie €em
i 1

ECem
&o%rm_

Let Lhe Y€ be bent intg the $ovm

Of a civele
et diameter Dem . Theyn

civeumference

= Qo.gcm
= RNMP=- Qo.gem

= = 0.8

= piametey = 6.3 e

piametey of a civele = &.3cm,

colution-o8 -

wehave,
. tev of & W | ] 63
Diame heel Of o cavis G crn

civCumdiegience of civCcle »
g Q;&a’é'z.rm
= 28%9 oem
= 9% cm
The taheel makes 1oco vevolutions = 1ooox|q$ o
19%e m .

The disbomce Avavelled bythe cavis Ty

Solukion-09 -
The diawmetey of o wheel of A cav {5 9gem

civeumfesence of a civcle = Tmpom

- 8& |
7 98 ¢cm

= naxlyocm
= ZoBIm
distance tvavelled by a wheel = ¢lgom |
one vevolukion distance -

= € = 308cm

D
= E4fo Xinoewm

3% Crh L im=igeom)

rNumhber of Yevelubionsg

= dopg vyevolutions

O O
. 2ooc vevolukions will 1k take to trave] gi¢, b \\
metf?’s @ O



http://cbs.wondershare.com/go.php?pid=5239&m=db

https://millionstar.godaddysites.com/ Wondershare

PDFelement

Remove Watermark .-

solution-io;-

we know that

Civcumference ofF a evrele = 4qy

Civeuwnferente ey = AWy
c 3R ¢y
(s Ya]

= 2 B
"‘;1? A28 Y4Yy0oem

CCiYcumference = 2AY 1622 g 5o ko

sclukion - l1i-

civenlar Fleld of Tc{&ls.l.b = &
Towhn cyeling af the speed = © s:..-;hw

= B Lioocam
Sioen e

S6008

civcumference € = any - L usa
=i o By

= A¥Qaawy
= 132m.

pistance
speed

Time =

122 ¥ 3600

Eooo

LAY
KT

- RELAG
Tie

= BG4 S€conds.
solution =13 -

Radius of hour hand = yepm

Minute hand = ¢, o

The dustance tvaveljed Ly bheir +ips T 8 dﬂﬂs

=2piw
2EECumfe e 1Ee B¢ hour hand inday + ¢iveum fere DF
: reien ce

Minuit hand (n
= & &1'.‘?_3-.{'.1 4+ o BB el o
] 2Rt ayvg]

= 2 ([ vty = 28ligg] =iqic-2cm

The sum of the diskantey bravelled by thair Hpsinpdays <19t

Selukion ~13 -

Loe hove,

gide of a whombous= 2.2m. | @

perimeler of avhembous = Yig.om) , 60 \
an | Q" oL

In the gwenidoymalion K.: Q
A shombous has the Same perimeter as the circumf erenc \'@

af a civcle.

toe know that @
: *
Civcumference of o civele = gy =‘3-Bq-\\\ ®®

-3 T = - 2 g_%ij \
X a2 N

= T = letym . * Q
N

®

l

Az
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wehte pading nE & civcle = 2@ cm

civecumference o f a circle

= 2 Adg
T L8y,

= BRLARDCm
= 176 m.

lengbnof civele ishent Tnto aform of e Souave.
Given,

Lenpth of ¢l vele civewnference = gquare civcumferencs

6 em = yegiden

side = Yyem

Side af the Squave = YY

solukian = 15 -
N'U\.“I’).E:-Ei ot R_-E_"\.'nllu_‘z;ﬁ\"l5=6 M=T=la)

Total distance travelled =nkm

Totol distance
Mumber o+ Revelukions Ntim';ag.'v ]

_traveiied

pistames tvovened gy one

yeve lubion

500D = 1k

— ————————————

Distance troveled im Bne vevol wkion

"

diskance iraveled in one vevoluiion o

= . oog,

i 4
LR - a
5,006 E L& m =1000m]

we knobhal,

circuamt evene = oy

'l_;m= anr =D

R Tadius = Hxn

2a |
Cinmeder -
T3] ‘
Solution-lg:- R f:j::: |
we have, is te
piameter OF theluoheel - 60Cm . i L

1= |oo<:m'_||
cwecnmierence of the Wheel = Trp

1320
— D ==
<m -]

wheels of cucle are MmMaking "FOTG'Voiu_::u'on.-,
Pey mine,

Travelling distance by cyelein one
n

té '\Q
Minwky = Iﬁ_-Qo \
T Mm% lyg YeVolugiomn, q, < ?
pistomece TwvenTlled ‘-"'5 the Sycle in one heoor
SPeedPerhpy o 1320 2o \
= Lt wge OQ 2 Q
= V32 ¥I2xlcen ’\ ‘2’ &
= 1934000 em ’\\

= 158y JFM'lh‘Y Q\ V
\

speed Pev houy :Is'g‘fk“]h ’\Q
¥
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Solukion-11 -
vre have,
Diawetey OF thedviving Whee| of a b4S 1S 1400
SiveumieveEnce of a bus = 7‘1__1& il
= AR+830
. = 44y o om.
&iven,sree
i d Per hour = g pp)y,,
eed PeY ho & o .
=1 wE MNo.of TeVelutiong CIYC U eteng
I5e ofldhee |
Géf‘”bhtﬂmm
eEg o
Yy e

Mo 02 veveluwkion g PEd i

revolukions Pex minm

Solution- 18! -

Awater SPrYinkley In Lawy

Spragsyadius = Tm,

tendbn 0F the oy,

Cdge of Laed Frcrge S

SR wgn
% | !'7&]
Leng b =yyi,
SolutionAqg, -
Given,
Bicmetes Bf a4 wed = i Lt
Bagliuc O0F the wEL = !--:j—m-:m
= 35cwn .,
tength pf the outey edae of bhe Poave pet =B G
= Civeumference (&)= CEéocwm
== ¢ = Géocem
= 8NF = éGoecwm
Foig
= ¥z €66 . .em
2 #3F
=2 Y= 1oBE™ 0 . @
= Fadiug = lo5cm b \:J
eidth of tne Paxapet

Tc:.d._.'u.s._o{ FPavapet edqe-
Tacius or weur

Iosem -965¢em \,@
= Boch. % Q
wWidtn o f bhe Pora pel = 3oem R \ OQ &

n
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Solution -2 -

Gylven.
¥oPe vocliug = am.

Ci¥cumbevence of Wope = ATY

= 'R“?__:L‘!‘Em

distance covered M ome ¥ound = tlﬂa -
Aistance coveved in 14 Younds =iy “?’Lm
=
= Baym

. distance ecovered byoa in 1Y vourd § = 26 m,
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Solubion-o08 -

Ttig given that,

civeumfFesence oFf aciscle

= S.lymn
= 2nT = A:lYy
=} wodius s Zr 4
2w
= Tadius = sz
= vadiuws =p-5m-

L€ know Hhal,

Avea ef a avele

]

W
D_'T?;_"y_ & -WWn .

C-1mEm-

Solution -Dg!-
Given thak,
Avea of ‘a orvelers o .2y mb

]

. 1
T = B0.24m—

= {1e ™
erv¥cumference pof o Ccivele =

= L 1.

amy
= SR yw y

~25e2m

Solution-pa-

L€ have-

Radius of o Long stxviP = 2am

we Knpwihat,

Av¥€a pof a civcle

O ’\O
i T e @6 @
% T luta 4, &6 Q&

T dysym-

Wondershare
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Sowmtkion -o9-
we haove,
civeurnf evence of o civoulod Poske —2s5:m

= ANy m3gsz2m

e, e ES -
= T = N
2T
-
S s SET
3*9_5"'-17‘!1.

Rodws of faxk = 56w,
Road woide = T
Radivs ©f swivounded Yoo with civoulay
FPoxk =Sém-=wm .,
= Ga™.
Avea pf Rood= AL - (561

-

2] 3
= gredkes- Wr g,
1

= 22024632 - B x5¢]
- 82567 —-yyel
= 2a [ 14a)
= 2¢4%

Mea pf rcté-l = 269 m N

Selution —lo -

Racliusof civewlew(zeggion =

Radius of Civeeloy gegion MiRladin g praki i
Prxe o of @ civeldear Palbh of

uniform Width h= [Aca of loeee edcte
with  vadiy [v+h] - [ﬂ\’_ﬂ- c%-
Trealler afete 0 vodiul v]
= ER (vt by ol
A [ B ah -]
= A hry 2 k]
= Ahlaviny,

P
-.-JIT.L'WILI" s, = AhLavl] -

Solukion -1z -
we hove, : 0 ‘\O
O~ &

pevimeley of a civele = Yivem, @

we know thak,
Pesimeter pf o civcle 3 ANMR = ypv @K% Q
=D R = 4yny 6\'
= NS
= R=av N O é
- Avea of o civele - TR~ ’§\\ @
N ncl‘ﬂb @ V

= YT ol

S AYEQ SYTY e
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solukion-gy2 -
Li‘_ Lquee  be ot‘ tide ' aed ey la Le inh v ol
LEnﬂ'ﬂw Dt wive = r-f“‘tvrﬂ{'ttv’ EL fquase -
E Fm'mriz-oé_— e ele
= BOXY = 2Wy = 4% k { = Spay s
i
= Y= Soalxt _ ynqay
T X L= taxh,
.ql
At @-L Sulu,m..e = = [t?.'gr,)"" @
@ A
ey cJE bevele ™= Wl = pf SOAMET | Corpx
- 34 T
= (soan)eey
e
./ 13 T
A8 [5oanst « a3 LEA.
E
Soiukioh—1_3'.-
Radiws of acivcle =Y cm
Aten of A ci¥Cle = yb
= &p
= AL iy
= 5&)(3.1 [}
- 89404
= Bl EemT

Aouble Avea ol a civelecy CEIE) et

S ALE

S Radimeed o cigelé :I_ﬂ-_
m

= Iaa,

Y]

= r-nm
2 0

= !-56.3'1
= Wz em

- Radivs =14 (Tem, |
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Radivae of fivsd civealay {Teloh = 20m

a~hvea of o civcllay field-"22, .,

(]

]
5 4400 § b

T RBoo |,
‘—';" el
Radius of seecond Civealsy field = yg

" cod = 28
Byea of ‘SE'('DVH‘.!- (\1(&1"\‘;‘2' “_;i.‘l%'!lq-a

= H06E4d
= —_— e
= ¥

Avea of Thivd cvvculay field = Aveq O1 Avea

- ‘:‘Roo+ E0CRg
= a T

51 ¢ae
=

Raclivs of Tnivd ovEculol field = :'V_'l =
Ti

=1 51
LiIK‘BY >
= =T

= {Ln.m“_'
L Re dius of ThvA crcda Fed= S1en

Solukion-i1s!-

Radiuse of Hivst evvedlay fladrs sm
Radivs of (S€cond ciscwlar field =13m .

Avea of ﬂmr'.'sr\dﬁv field = m™

=, a
A =
_|‘\‘5y5'rr\
Ate § Mg i
a gf 3" civedarfield = [yt
T 2
= 430 3m-

pvea of 379 clacular {ied =

AT?Q@ ~ Aven )

= D335 4

i B2

S [isa-aq
23

= %luy

i 3‘“’1?.!!1;;_

QS)
RadiuSpd a civele = r_ﬂ\___ 60 \
b <
L @xqu
a1y = diqy @
=12m @
S Radius of mawd  Civcle stam, %\' %.
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Solukion -1 g5

fiae have,
Radius pf 475t cixele -p

Piameter ol @ civele =R

D
Ciameter of & civcle = 2p
3

piamete of @ civele -

|
5 D

A¥éo, of (O cixcle = TTp™
4
ATES OF & Ccivcle = ﬂ'[_”grﬁ‘
1

Avea of @ civele = T (ip)

L{

S hiea of shaded Region - Avea @ A
—“Avea(d -

A
9 N
= Tp '
L0
w T If . Wt |
A6 |
— SAnn- Ll i T
B i
= U™
e
a5 | .
o TI_.D el |
9 A |
Ai€a o ashaded Region = “?l;;ﬂzr%sn;m"
Solukion -11'-
Radlusof the Guavtex fivaular plat =g
v m
Avea oF Quovter Civculay Plat -
N %_ faq-
= Tt
AY €a gf bne flower Led - e
L' woding
= T ¢ Ay of fiouer]
= oy LJ?.A‘;M_

Ay @a of tihe fEmmi“.i“ﬂE"- la = Pre VOF e Recta
= \-gmq

"_;g[r_‘{. 4 ATF_([ d.-ﬁ q_ ke

A be oy

CITL‘H_LL-“' Plot - I’*“‘E’r\ aF

Flowey ey

> < ’
Pyea o4 e Remalning I . it 0
bl i Yirm* C§\
= ba mil—_250|321 @

T LB.qbet @ Q
fAen of the Rermaining Field = 88 g, nf 3@ %_
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solution_1a -

Radius pfacivscle = sem

Given el side of the sguave =laom

Réguired Avea = AYEa 01 Square AR -prea of

£ Fuad vamid

o LD‘JQ_H(ﬁ*Q\—a*ELBCML
i

= |opcwm - Bayag

—" om
= L}I;L‘{Z:mt
Solukion-19 -
AvTea af © citele = 5t
Aveo of @ CI¥ele = (pemy*
Rad.!l.u.s of @ Ciwcle = T
Eoadi §
adive e matens fr Lo
B L —_—
T = JBF_F—
= forr,
civcum fedence or @ ccivcle = BTy

Civoum feve :
"€ of @ eivere = pneiande By
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